EARAROBREBRT —5 XN—ZXBISH—F

20235128278 (K) 15018

I C 174 YSFR—g B
[xE%] 15 :400,000  23&:140,000 @  337#&:80,000 M  43%&:40,000H  53&:20,000H
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
» 3 3 | ML 1:30.4 6-4-3-2 | 38.0| — 1 454 | EEHEE) (M)
70-7714L * 54.0 ) 2 | @) e9n T
RiVPRIVTA B:F—RIVITIL 75 RS
SN 3 | #IEgse 1:31.4 2-2-2-1 [39.6| — 2 454 | FPEERE— ()
OvIIv L e 54.0 ) o | @ J P N
RINZANOA—UT B:HISAHAIYIR LIRS
oer7oI7uU% 3| M- e 4344 {396 — | 3 (402) BT (2H)
R:E-URX B:0-XAU—F +3 [FElEekes]
EIL/ ST RUTF € 3 %{IOI‘E 1:(352).8 5-6-5-5 |39.3| -— 4 ezg;t ?%E)IE%E} u(%w
RN=YISA B:ISAT+—IaA TEHEHS
BAFS : -1-1- - BHAEA (%41
slglg| 7=k B3 56_01 1.(323).2 1-1-1-3 | 42.0 5 (4+647) BOLS N
RIXAVRAFPERwY #:29335YvY TERUS
© 4% 5 | ME—D 1:34.5 7-7-6-6 | 40.9| — 7 a1 | PR (SE)
61111 ¥AABL—=F A51.0 ® ) | @B w=257
R:ZAEILN=T B:NUDy RELT B EEEG R IET RS
R RIEIE :37. -5-7- . - FEXRG— ()
7 3|7z 7U—=5— 5 T80 (1931;) T M3 ¢ fg HEOHRE )
RiAAY3aVPLYY BI7IS5Vv T4 NIERNTTZ—L
@ 1—F—&RIEL
13—7— 5,7,3,4,2,6,1
20—F— 5,7,4,6,3,2,1
33— — 5,7,6,4,2,1,3
43—F— 7,6,5,4,2,1,3
o ILRE
BB 6 110 JA R 6-7 1004 B & 6-7 120M 3EE 4-6-7 200/
B B 6 100/ 4-6 1909 =51 6-7 1704 3EH 6-7-4 330
7 100 4-7 220

ABIC OV TRUTEREERRODDZE. THRIIZEL.




